MICROECONOMIC PROBLEMS #10

Problem 1

Suppose that we have two firms with constant marginal costs of c1 and two firms with constant marginal costs of c2, and that c2>c1. What is the Bertrand equilibrium in this model? What is the competitive equilibrium in this model?
Problem 2

Consider an industry with 2 firms, each having marginal cost equal to zero. The (inverse) demand curve facing the industry is
P(Y) = 100 – Y

where Y = y1 + y2 is total output.

a) What is the competitive equilibrium level of production?

b) If each firm behaves as a Cournot competitor, what is firm 1’s optimal choice given firm 2’s output?

c) Calculate the Cournot equilibrium amount of output for each firm.

d) Calculate the cartel amount of output for the industry.

e) If firm 1 behaves as a follower and firm 2 behaves as a leader, calculate the Stackelberg equilibrium output of each firm?

Problem 3 (GT again)
What are the Nash equilibria of the following game after one eliminates dominated strategies?

	
	Column

	
	Left
	Middle
	Right

	Row
	Top
	3, 3
	0, 3
	0, 0

	
	Middle
	3, 0
	2, 2
	0, 2

	
	Bottom
	0, 0
	2, 0
	1, 1


Problem 4 (GT again)
What is the equilibrium in the following game:

	
	Column

	Row
	
	L
	R

	
	T
	1, -1
	-1, 1

	
	B
	-1, 1
	1, -1


Is it a zero-sum game?

Problem 5 (GT again)

An oligopolistic situation involving the possible creation of barriers to entry would probably best be modeled by a

A) cooperative game.

B) sequential game.

C) Prisoner’s Dilemma game.

D) Battle of the Sexes game.

E) repeated game.

Problem 6 (GT again)

What does it mean to say that a game is in “extensive form”?

A) The game is presented as a matrix.

B) The game is written out as often as the situation calls for it to be played.

C) The game is presented as a decision tree.

D) All payoffs are shown.

E) Strategies are described, rather than just numbered.

